Unit 8-1 to 8-3 Test Review 
  Name: _____________________________ Date:  May 2018
Multiple Choice
Write the letter that best answers the question or completes the statement on the line provided.
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 1.
Organisms that make their own food are called:
a.
autotrophs
b.
heterotrophs
c.
thylakoids
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 2.
Organisms that cannot make their own food and must obtain energy from the foods they eat: are called:
a.
autotrophs
b.
heterotrophs
c.
thylakoids
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 3.
Which of the following is NOT a part of an ATP molecule?
a.
adenine
b.
ribose
c.
chlorophyll
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 4.
In Figure 1, between which parts of
the molecule must the bonds be
broken to form an ADP molecule?
a.
A and B
b.
B and C
c.
C and D
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 5.
Jan van Helmont concluded that
plants gain most of their mass from:
a.
water.
b.
the soil.
c.
carbon dioxide in the air.
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 6.
Ingenhousz showed that plants produce oxygen bubbles when exposed to:
a.
ATP
b.
carbon dioxide
c.
light
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 7.
Photosynthesis uses sunlight to convert water and carbon dioxide into:
a.
oxygen
b.
oxygen & high-energy sugars
c
ATP and oxygen.
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 8.
Plants gather the sun’s energy with light-absorbing molecules called:
a.
pigments
b.
thylakoids
c.
stroma
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 9.   Plants take in the sun’s energy by absorbing:
a.
sunlight
b.
chlorophyll a
c.
chlorophyll b
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10.
The stroma is the space that surrounds:
a.
thylakoids
b.
chloroplasts
c.
plant cell
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11.
Which of the following are used in the overall reactions for photosynthesis?
a.
carbon dioxide


  c. light
b.
water


  d. all of the above
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12.
Most plants appear green because chlorophyll:
a.
does not absorb green light.
b.
reflects violet light.
c.
absorbs green light.
d.
none of the above
[image: image14.png]


13.
Which of the following affects the rate of photosynthesis?
a.
temperature
b.
light intensity
c.
both a and b
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 14.
Where do the light-independent reactions take place?

a. in the stroma


b.  outside the chloroplast
         c. in the thylakoid membranes
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 15.
The Calvin cycle is another name for
a. light-independent reactions.
b. light-dependent reactions.
c.
 photosynthesis.

[image: image17.png]


 16.
What is a product of the Calvin cycle?
a.
oxygen gas
b.
ATP
c.
high-energy sugars

_____ 17.  A granum is a(an):

a.  Stack of chloroplasts

b. Stack of thylakoids

c. Membrane enclosing a thylakoid

d. Photosynthetic pigment molecule

_____ 18.  The light-collecting units of a chloroplast are the:
a.
electron carriers.


c. stroma.
b.
photosystems.


d. high-energy sugars.

____19.  What are the products of the light-dependent reactions?
a.
oxygen gas
c. NADPH
b.
ATP
d. all of the above
_____20. Which step is the beginning of photosynthesis?
a.
Pigments in photosystem I absorb light.
b.
Pigments in photosystem II absorb light.

c.
High-energy electrons move through the electron transport chain.
d.
ATP synthase allows H+ ions to pass through the thylakoid membrane.
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 21.The Calvin cycle takes place in the
a.
stroma.
c. thylakoid membranes.
b.
photosystems.
d. chlorophyll molecules.
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22.
If carbon dioxide is removed from a plant’s environment,
what would you expect to happen to its production of high-energy sugars?
a.
More sugars will be produced.
b.
No sugars will be produced.

c.
The same number of sugars will be produced but without
carbon dioxide.
d.
Carbon dioxide does not affect the production of high-energy sugars in plants.

_____23.  If you continue to increase the intensity of light that a plant
receives, what happens?
a.
The rate of photosynthesis increases with light intensity.
b.
The rate of photosynthesis decreases with light intensity.
c.
The rate of photosynthesis increases and then levels off.
d.
The rate of photosynthesis does not change.
Completion
Complete each statement on the line provided.
24.  Organisms, such as hawks and leopards, which obtain energy from the foods they consume, are called __________________________________.
25.
Ingenhousz found that plants produce oxygen bubbles only in the presence of _____________________.
26.
Photosynthesis uses the energy of sunlight to convert water and carbon dioxide into oxygen and _____________________________________.
Short Answer
In complete sentences, write the answers to the questions on the lines provided.
27.  What is ATP?  How is energy released from an ATP molecule?
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28.  List factors that affect the rate of photosynthesis.
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29.  Identify the structures labeled A and B in Figure 2. 

A ________________________________________ B ____________________________________
30.  Write the overall equation for photosynthesis in both symbols and words.
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Using Science Skills
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Figure 3
Use the diagram below to answer the following questions on the lines provided.
31.  What process is shown in Figure 3? _____________________________________________
32.  What structure is shown in Figure 3? ____________________________________________
33.
Look at Figure 3. What are the products of the light-dependent reactions and the light-independent reactions?
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34.
What are the products of the Calvin cycle shown in Figure 3?
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35.
In Figure 3, what chemical from the atmosphere is used in the Calvin cycle to produce sugars? 
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36. Fill in the blanks using the word list below (summary of the activities of the light dependent and light independent reactions of photosynthesis).

WORD LIST:

six

chlorophyll

absorb


darkness

CO2
stroma

thylakoid

NADPH

sugars


synthase

Light dependent reaction - Electrons in the pigments of _____________________ in photosystem II _________________energy from light. These electrons then move through the electron transport chain to photosystem I. H+ ions move from the stroma into the inner ________________________membrane. NADP+ becomes ____________________________. The charge difference on either side of the thylakoid membrane provides the energy to make ATP via ATP ____________________________.
Light-independent reaction - In __________________________, the Calvin cycle occurs in the ________________________. During the Calvin cycle, the products of the light-dependent reactions (ATP and NADPH) are used to convert _________ molecules of ___________ into high-energy ________________________. If the plant has been in the dark for a long period of time, there may not be enough ATP and NADPH to continue the Calvin cycle.
